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M E22e|AR A
JH: £ WSY FH(USLER/EZ)
Chel: OHMEH E2 2o EER=E)
SA - B BRA(SH) - HRA - of v e HIDE2
OXxFEE=> 1,118,000
Obfi===2Hd 396,400
OE=ZHEIKX 394,400
oung ¥ HE 2+ 1,565,000
OuSHtEAIE 282,400
OZ 01 3l 162,000
O=-=8uE Mt 500,000
OANd=sotdEd 1,884,000
e 1,884,000
ogs=Ekel M 330,400
(OPFu==t 648,000
02 Zeltl 400,000 350,000 50,000
OAHEAH 2 ES 400,000
03 Al2 20 9,000 9,000 0
OAIE20HYI 9,000
FIEEE N 1,500,000 1,500,000
401 AIZHIX R0 1,500,000 1,500,000
01 AlZH| 1,500,000 1,500,000
ORIEE=Z W 1,500,000
A= ML A 854,000 1,000,000 146,000
401 AIEHIZ SR HYI 854,000 1,000,000 146,000
01 Al&HI 854,000 1,000,000 146,000
OHY otE4H| wiH ¥ 22 854,000
HEtIIa SZHEA 50,000 50,000
401 Al HIZL 201 50,000 50,000
01 Al&HI 50,000 50,000
OMEUIIA 2B A 50,000
HIE2E M2ZAlE FAl2c 50,000 50,000 0
401 AIZHIX R0 50,000 50,000
01 AlZH| 50,000 50,000
OBIE28 NZAE =Xl 50,000
A B2 2,022,536 1,767,490 255,046
ANEE R 2EXE 2 2,022,536 1,767,490 255,046
101 e124d| 14,133 10,549 3,584
M ORINZZ2NSE S 14,133 10,549 3,584
OMEZU&II2 HI& 12| 14,133
201 er23| 1,725,403 1,560,441 164,962
01 At2teltl 990,603 859,331 131,272
oZsitg FIIEx= 12,000
ONM&ZHl Xz 879,313
OE&2 2L II=H] 6,900
oXgeady =3 4,000

- 824 -




2A:

S22

A
g

M £2 ISY FH(nSHER/E2)
Rl FAF BE2t EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OFA2Y 2l 50,000
OXHHHBAHAC X 2E e 20,850
OF At 2E(SRA) 200
oTuUAaY 29 X2 17,340
02 S5=24g4l 734,800 701,110 33,690
0=32= # HAl 110,000
OdHl 7% bl 350,000
Ol =2l - FZH] 180,000
OZFEAEIIDI| #=2 11,000
OFAAIE FXl2cl 31,200
OFA HEE RFHI 28,600
0LF - 0I3A =3J| 72 89 24,000
401 AIZHIX 20HH 88,000 88,000
01 Al 88,000 88,000
OFA ==AIE HA 88,000
405 KHaHE SH 195,000 93,500 101,500
01 Tt =S F=H 195,000 93,500 101,500
o=zl & MeEH 2 195,000
N2 AAL (S 2 22AE A) (OIEHIIE 7,187,002 6,904,861 282,141
el 2 7,062,550 6,770,517 282,033
S2E 212l K& 3,389,445 3,368, 151 21,294
101 21A4H| 3,389,445 3,368, 151 21,294
01 2= 3,261,020 3,232,226 28,794
OFJI=t= 2,389,190
o= 2,223,3%
-AS Kl 272,793
4= 98,431,000 x1H 98,431
52 87,181,000& 2 174,362
-ghy 1,950,599
o= 4,392,600 198 * 122 1,001,513
= 3,504,700 x9H 123 388,228
=] 2,459,900 x19E 123 560,858
o832+ 3,315,951 x50 »50%*22] 165,798
o=g 411,758
(O~ (GRS, 68,319
-esRaAd
4,051,173 x 128 +4. 1% 123 23,919
“2edonts 44,400
255014 130,000 x8& * 12 12,480
- 20~25E 012t 110,000 x10E « 12& 13,200
- 15~20 012t 80,0002 x4 122 3,840
- 10~15E 012+ 60,0002 x8 122 5,760
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A S22 A A
M HI2IIH(CZ22IAGA)(OIEH/IIE
chsl: ol CERE
RA - BH - SHIEN) - HRAY - BAS ofl &t A HIDEZ
5~10= 012t 50,0002+ * 12 4,800
5&0|gt 30,0002+ 12F 122 4,320
OIHEH = 51,840
5= 51,840
BN, 40,0003 »40H « 122 19,200
IR A E Hlst F0HE
20,0002 50«12 12,000
D INTE! 30,0002 15~ 128 5,400
=M X4 70,0003 15« 128 12,600
U MESVE
110,000& =2« 12& 2,640
OS+ge=g 40,680
-FEI2L=Z(EB)
50,0003 *18H 122 10,800
g2 13,800
55 0l 50,000 2« 128 1,200
672 30,0002 25«12 9,000
- 8= Olot 20,0002 15~ 128 3,600
DsEEsEKE 8,880
IV, 50,000 x1&* 122 600
ISE, JIA
30,0002 x 15« 12& 5,400
AFHDIAL 28 A (8-92)
20,0003 *10H 122 2,400
28z (6~72) 10,0002 x4« 12 480
-Hel=g 7,200
i 200,000 «3H*12& 7,200
OAIt 22+ 235,722
-2 B 11,7593 x50 *30A1 2t 12 211,662
-EHg2kl
12,5312 +2#80A1 2t 128 24,060
ooRrt=22+¢
4, 17T A2B 122U +BAI 2 8,154
Os22R2=E 88,0343 »2& x40 7,043
(©OpsEL=TAL 14000024 %52 » 12& 87,360
OgESIt| 3,315,951 21«50 »23] x6(% 198,958
O¢ItE 4| 61,434
O%EH 7,577,583 x86%+1/30+12x3F 7,821
O==H 3,315,951 «86%x1/30% 12+47H 53,613
OXZEZH| 112,320
O4= 400,000 x1H 122 4,800
O55 250,000 «2F 122 6,000
O6= 185,000 x19& « 128 42,180
ors 180,000 x0H « 122 19,440
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2N T2 22IAME A
M HYP2AFZH(S2H2IAFEA) (JIEHDIE
s IEE2g] EER=E)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
O8=~9= 175,0002 x 192« 123 39,900
02 JIEt& 2 128,425 135,925 AT7,500
AR5 128,425
OPIE== 1,877,000& x4H* 122 90,096
OFAHZAlH| 140,000 4G+ 12 6,720
OXZEZH| 175,000& x4 H x 122 8,400
OAIRIeIZ22+E
9,860 *4G*30Al 2t 12 14,199
OZE SOt
1,877,000 *4 % »23| x60% 9,010
e =23 29 2,856,729 2,655,591 201,138
101 214 d| 2,532,540 2,360,834 171,706
03 SR (RIHL) 22X B 2,532,540 2,360,834 171,706
0= 2,336, 1603 x48H x 12& 1,345,629
(OFSF=E = 2,336, 160 *50%+23| *48H 112,136
OxX & cAY|
2,336, 160& *x20%+ 103 *48H 224,272
OS82 150,000& 48+ 12& 86,400
Q=Y 49,200
Ot Xt 40,0002 *40F «12& 19,200
OtiRAt2t HHE HMelst L=
20,0003 =108+ 12& 2,400
OFM X4 30,0003 *308 *12& 10,800
O=M Xt 70,0003 20« 12& 16,800
OAlIZte 22+
17,9602 x150%+48Z x2A| 2++ 12& 31,035
oort2R4
17,9603 x200%*48% x2A| 2t + 128 41,380
oFLZRE
17,960 & x200%*48%H »30 51,725
OFAHZ Al 140,000 48« 122 80,640
ORI+ 150,000 48 =123 86,400
OYEFIHI 2,336, 1603 x60%+23| *48H 134,563
OHIE &I
17,9602 x8A| 2H+ 12 »48H 82,760
(OFSgeepSfar Bty 150,000 48« 122 86,400
(OINE=3EN ] 250,000 »40F =123 120,000
M HAFRE3SS 324,189 204,757 29,432
04 SR (RIIH I BEEE!RY2 S 324,189 294,757 29,432
o223 408 PIEE = 324,189
AL 22l 2F 49,045 43,097 5,948
101 2124 d| 43,382 37,801 5,581
03 BRA(RIHL) 22X 43,382 37,801 5,581
oJl=23 2,506,200 x1H+12& 30,075
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A S22 A A
M HI2IIH(CZ22IAGA)(OIEH/IIE
chol: ol (19 @)
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
odz2+¢ 2,508, 2002 *50%+*22] 2,507
OAteI22+E
14,3703 150%+ 12 *10A1 2+ 123 2,587
OAXt=aF g
14,3703 +8AI 2t 12 x 156 1,725
Og&E =l 2,506, 2003 * 1B +60%+22] 3,008
Oz Al 140,000&x 18+ 12& 1,680
OuSH| 100,000& x 1+ 123 1,200
OxRsd 50,000x 1+ 123 600
M H=RE=S 5,663 5,29 367
M 3RA(RIY) 22X B82RE=3 S 5,663 5,29 367
O=Z0IstE HEE = JIARES 5,663
SEAE & HE2el 596,698 560,005 36,693
101 2124d| 539,889 497,783 42,106
03 BRA(RIH ) 22U E > 539,889 497,783 42,106
OAIE At 140,104
oJl2= 2,556,833 «3F~ 122 92,046
oE2+g 2,556, 8333 *3E +50%+22] 7,671
OAlteI 22+
14,2403 *150%<3B » 15A| -+ 128 11,535
Ogxt=a8xt=E
14,2403 +8A| 2+x3& 152 5,127
Og &SIl
2,556, 833 *3H x60%*22] 9,205
OZASA| 140,000 x3H 122 5,040
OJE=g 4,080
- Xt 40,0003 =2+ 12& 960
=l 20,0002 +3~ 122 720
oy DN E| 30,000 =2 * 122 720
=M Tt 70,0002 x 123 1,680
OunsHl 100,000& 3+ 12& 3,600
OxR+d 50,0008 +x3& * 122 1,800
OHg2c&d 399,785
(@=1 3,214,533 «6E « 12 231,447
ogz2+¢ 3,214,533 «50%+2 2] +6H 19,288
O 210,000 «6E 122 15,120
(@FSPU= ] 140,000 x6H 122 10,080
OAlteI 22+
18,580 *100%+* 15A1 26+ 12 20,067
OooRt=22¢
18,5803 *50%+8A| 26+ 125 55,740
Odxt=a57t+=g
18,580 »BA| 2H+6E 152 13,378
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SN T2E2IAYL
M HHSHAH(SZZ2IAA)(DIEHIIE)
el e Eal (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
O &SIl
3,214, 5332 x60%+23] %6 23,145
ONHEEAS 11,520
iEsg 11,520
LIEN 40,0002 6% * 122 2,880
CHIRIR HHS Helsh ZHE=
20,0002 6% * 128 1,440
) (IPNIE] 30,0002 6% * 122 2,160
EM XA 70,0002 6% * 128! 5,040
304 H2RL3S 56,809 62,222 5,413
04 SRE(PIAA) 22X BHERHS S 56,809 62,222 A5,413
OZTAIEAI 4UEEZ D223 17,161
OEg2RIA 4UEEZ I3 39,648
N 29 160,633 143,673 16,960
101 12| 142,858 126,618 16,240
0B SR (IH ) 222+ 142,858 126,618 16,240
0123 2,665,867 *3%* 128 95,972
ox24¢ 2,665, 8672 *50%3 *23] 7.9%8
OAlZ2I224¢
15, 20021 % 1508+ 15A1 2355 * 122 12,312
OUXRERII*Y
15,2002 x8AI 2H+122 %34 4,378
oONESY 2,160
=] 140,0002 *3% * 1228 5,040
OZESIMHI 2,665, 867 2 x60%*23] 3 9,5%8
OwsHI 100,0002x32* 128 3,600
ox24Y 50,0002 *3% * 122 1,800
304 Hi2RY3E 17,775 17,055 720
M SRH(LIHL) 22N BERRYZ S 17,775 17,055 720
OWHER AULEZ JI2ARYS 17,775
=z 134,452 134,344 108
fA2E 123 105,112 104,944 168
201 Yer2 K| 53, 1% 54,639 1,445
01 AtR2elt| 43,14 44,639 1,445
ORAN2Y AR22Y| 43,1%
02 222 10,000 10,000 0
ORAN2Y ST2YH| 10,000
202 OiH| 25,358 23,625 1,733
01 2ol 25,358 23,625 1,733
SA2Y 20| 25,358
203 HRFEXL 19,360 19,480 A120
01 D2 2gdRFaY| 3,300 3.300 0
COES; 3,300,000 3,300
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4,360

11,820

7,200
7,200

29,400
29,400
29,400

Ofl &F2H

4,300

4,300

11,760
3,000

8,760
7,200
7,200
4,800
2,400
29,340
29,340
29,340
29,040

300

- HyS

- SRA(3) - HIRAY

S - B

&

(40,0002 *1002 )+(30,000& *10H )

oze|nt(15

250,000& * 128

730,000 122

0
0

-

Rr

R0
0

ok
ol
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400,000& * 122

100,000& =2+ 123
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SN CEHAYSKL
M HYP2AAH(S2HIZEXIL) (JIEHIIE
cel: olzt=2ay (crol: M el)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
101 2124 d| 1,352,461 1,291,727 60,734
01 8= 1,245,080 1,228,366 16,714
OpIE== 917,210
O== 852,742
- 79,127
= 6,593,910 x1Z = 12& 79,127
-2 BHE 773,615
6= 3,897,500 x5+ 12& 233,850
e= 3,594,700 x8F 122 345,092
= 2,459,900 x5H » 12& 147,594
= 1,961,600 x2Y* 122 47,079
o¥zse 3,223,400 x20H #50%+2 & 64,468
o= 144,912
(OF{G:E= 18,297
ezsdsy
3,833, 100& x2H 4, 1%+ 12& 3,777
-EH2EoHZE 14,520
- 25E 01 & 130,000 x1H 123 1,560
- 20~25 0| Bt 110,000& 2B+ 122 2,640
- 15~204 0| 2t 80,0003 x1H 123 960
- 10~15= 0| 2t 60,0003 «8H 123 5,760
- 5~10= 0|2+ 50,0003+ 12& 1,800
- A0 Bt 30,0003 x5 =123 1,800
OJIAHENSEY 21,600
-tEg 21,600
- BH <Kt 40,0003 218+ 12& 10,080
 RYIIE(22)
20,0003 =128+ 12& 2,880
SLIE(HMAA)
30,0003 x5 123 1,800
LU= (SMAHA)
70,0003 x5« 123 4,200
SUINZ(AMAA)
110,000& 2B+ 122 2,640
OS2 2X=Y 14,640
-FE2R2+H(EB)
50,000& x99 » 12& 5,400
Jl=d8EsY 5,880
52 50,0003« 1H 123 600
6~7= 30,0003+ 128+ 12& 4,320
8~9= 20,0002 x4F+12& 960
D=8 E8013 3,360
JNSE,IIAL 30,0002 =8+ 12& 2,880
=286~73 10,0002 x4« 12& 480
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SN CEHAYSKL
M HI2IHH(S22IZEXA)(IIEIIE
chol: ol (19 @)
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
OS+HLay 3,600
-ERAUP= 100,000 x3&* 122 3,600
Ooguns 3,240
-AEHI(52) 270,000 x1& 128 3,240
OAIteI 22+ 83,535
-2 BHx 11,6023 x20Z +30Al 2+ 122 83,535
OZNU=AHI 140,000 x21H 122 35,280
OFEEFIHI 3,223,400 20 «60%*23! 77,362
OHIIE 4| 24,236
OSEH 219,800 x1H«12& +78% 2,058
OggHA 107,450 x20 2 122 +86% 22,178
(OFSF= N 46,080
O55 250,000 x1&~ 128 3,000
O6= 185,000 x5~ 123 11,100
or2 180,000&x8Z+12& 17,280
O8=~9= 175,000& 78+ 1238 14,700
02 JIet&a 2= 107,381 63,361 44,020
OAIZFEE RIS DM 41,833
OJlEZ=s 29,130
-Ot= 2,427 5003~ 1H« 128 29,130
OH2d=¢ 480
&= 480
S 40,0002+ 12+ 122 480
OAlRIeIRR4Y 2,958
NEEEE
9,800 x 1 +25AI 2+ 123 2,958
OS=22=¢ 1,404
—AIZHS BRI 17,0003 x 12+ 123 1,404
OZHUSAI 140,003 x 1= 123 1,680
Og &SIl
2,427, 5002 x1H«60%*22] 2,913
OgGItE 2| 80,9203 12132 «86% 905
OZZE x| 1,838
-8-9= 153, 1203 x1Z 122 1,838
Ol2rgsl 43,7503 +18+ 1238 525
oHABE 65,548
02123 46, 154
~151401 & 2314010t
3,846, 100 12~ 12& 46,154
Odt= 3,847
-d2+g 3,846, 1002 x1H «50%+22] 3,847
Oodu+< 960
-d2eE0Ht=a 960
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A E22e|TdE XA
M HYSHZH(Z2H2ZEXL)(JIEHIIE
ool olEedy| EERE)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
- 15~20E 0/ ¢ 80,0002 12+ 128 960
OIAEE S 960
OiEay 960
HH < Xt 40,0002 %1% * 122 480
- RUIE 20,0002 x224* 1224 480
OANZ 24y 3,247
-AIRtQI2R
10,8212+ 12 #2541 24+ 122 3,247
OFUZ AL 140, 0002012 * 128 1,680
OHEFIIHI
3,846, 1002 * 124 60%+23] 4,616
Ol PI=IN] 128, 2108 *1* 122 x86% 1,324
O=ZEZH| 2,160
154014 180, 000212 * 128 2,160
OteIgsH| 50,0008 »124* 1284 600
gs +22 29 1,769,976 1,643,733 126,243
101 Q1244 1,591,315 1,478,440 112,875
0B SR (RI|H ) 22X24 1,591,315 1,478,440 112,875
OE2E4+E L IS4y 1,405,777
oJ=2 2,318,700 %272 * 122 751,259
OF24¢ 1,150,350 91 %27 %224 62,605
Ol cteit]
2,318, 7002 %272 103 20% 125,210
OS4R4g 150, 00021 <2724 * 12 48,600
Ot g 150, 0002127 24 * 122 48,600
Osig+¢ 150, 0002127 24 * 122 48,600
OFAUZ Al 140,0002 <272 * 122 45,360
OnEZ=EH| 250,00021 %202 * 128 60,000
OHEEIIHI
2,111, 44024 *27 % x60%+25] 68,411
o= 27,360
~Hi <Xt 40,0002 %222 » 128 10,560
~ROOIE(22) 20,0002 624 * 122 1,440
-PYNE(RMAHA)
30,0002 x 12 * 128 4,320
-SUNE(SMALA)
70,0002 %102 * 128 8,400
-~ (MRHXIA)
110,000 22 * 128 2,640
OAlteI2R4g
26,8302 %27 x24I 2+ 122 17,386
Oof2P4g
35, 7742 *27Ex2A| 2+ 122 23,182
OfYa2sd
35, 7742127 Z 1Al 230 28,977
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A E22e|AE XA
Za: AZ2AAH(T2RAUBSIA)(IIEHIIEH
chol: ol (19 @)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OS2 4| 143,0063 x27 H+ 13 50,227
oHgace 185,538
oJlzs 3,011,700 x3E 122 108,422
(OFSTes =) 1,505,850 «3H ~2& 9,036
O &g 210,000& x3E12& 7,560
OZHZAH| 140,000 x3&* 12 5,040
Oerd2te|=¢ 50,0002 x3& 122 1,800
Og&=Itdl
3,011, 7002 «3E +60%*22] 10,843
OtE+E 6,840
BN} 40,0002 x32* 122 1,440
-RLINE(RL) 20,0008 x2& * 122 480
-FLINF(HMAA)
30,0002 *x38 * 122 1,080
-SANE(SMALA)
70,0002 %3 * 122 2,520
-SLINS(AMAA)
10,0002 x1&* 122 1,320
OA2I22+E
15,0733 x3E*16A1 2H= 123 8,683
oopt2e+<g
7,537 +BAI2Hx3H+ 125 22,611
OuJtE &l 120,584 3% »13& 4,703
4 HASFESS 178,661 165,293 13,368
M SRA(RIAHY) 22X BEERE=3 S 178,661 165,293 13,368
Oz JI2RY= 178,661
OkzExE ME2EE J|2RES 157,917
Otgacld 28z JI2RE=S 20,744
WNHEAEY 104,553 88,054 16,49
101 @124H| 94,160 79,199 14,961
03 BRA(RIH )22 U2+ 94,160 79,19 14,961
OUH=A 94,160
OJlzs 2,617,300 «2F 128 62,816
odz2=+g 1,308,6502 x2& +2E 5,235
OARIRA+=E
22,4313 x2«15A1 2+ 123 8,076
Ouxtr=&t=¢
119,632 x2& » 13 3,11
OJ&E=g 1,680
BN} 40,0002 x1&* 122 480
-SUNE(RMALA)
30,0002 x 1~ 122 360
-SLINE(SMAH)
70,0002 x1& x 122 840
OS] 100,000 x2& * 122 2,400
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SH: CREIZIENRIA
¥ £2 NSY JHI(HE)(nSESF//E2)
el et =2 22 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
C22eEf A A 12,995,394 12,627,716 367,678
ES 1,555,500
== 11,439,894
C2 NSy FHI(HY)(NSLER/E2) 9,100,248 8,981,599 127,649
e 1,555,500
= 7,553,748
& E2 22 7,549,179 7,862,884 A313,705
e 1,565,500
=S 5,993,679
NLERXEs X AIZSotA 22| 6,491,179 7,392,884 A901,705
ES 1,555,500
== 4,936,679
201 Ler=23 | 373,860 356, 168 17,692
01 At2teltl 37,860 23,648 14,212
OoXNgr =22 29 37,560
Ou=stl(EzE=, HE2el) 24,960
OsAlH| 12,600
ONHHERA 2 300
oul=Hl 300
02 S3=gHl 336,000 332,520 3,480
oHgdllz 336,000
202 04| 150,000 134,280 15,720
01 =LHOLI 150,000 134,280 16,720
OXgE RX2e| R 145,000
O=FA ZHSEA BHAIR 5,000
204 AP AH| 10,200 10,200
2 SEF3H 10,200 10,200
ou2lg syl 50,0003 x17&+12& 10,200
206 M=l 599,000 408,000 191,000
01 M=4l 599,000 408,000 191,000
OXYT RX2e| A2 599,000
401 AIEHIZ SR 0HYI 5,388,119 6,484,236 A1,126,117
e 1,565,500
= 3,802,619
01 Al&H| 5,071,119 6,197,236 A1,126,117
ox¥T = 900,000
Otfi===2 K 264,999
OT=% ZIiX &Hdl 365,420
oug ¥ HE 2+ 1,035,000
OuwSHEAlIE FHI 80,000
OZ0Esl 189,800
OAld= ot EH 1,865,500
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A 2 2e|Ef XA
M £2 NSY FH(HE)(RSEER/E2)
el et =2 22 EER=E)
A - Z - ERI(E) - KIRAY - BaS ol &4 e HIDEY
EN 1,555,500
oY==kl M 330,400
OXHed = 360,000
02 Zteltl 278,000 278,000 0
OH&A2e] 278,000
03 Al THHI 9,000 9,000 0
OAlIE S HYI 9,000
IEEE W 400,000 400,000
401 AIEHIZ SR THYI 400,000 400,000
01 AlZHI 400,000 400,000
OfIEE=Z N 400,000
NLEHE MPAES ALY 650,000 470,000 180,000
401 Al HIZL 201 650,000 470,000 180,000
01 Al&H| 650,000 470,000 180,000
OHEg ord4d| WM ¥ 2 650,000
MWL SZHEA 8,000 8,000
401 AIZHIY 20 8,000 8,000
01 AlZHI 8,000 8,000
OMAUIIA SZHIHE A 8,000
A B2 1,560,069 1,118,715 441,354
ANEE R 2EXE 2 1,560,069 1,118,715 441,354
201 =3 1,342,069 1,095,715 246,354
01 AtR2teltl 813,229 710,475 102,754
ozExtg IIILX= 12,000
ON&ZH Xz 727,280
OS2 R II=H] 3,000
OZAtZE 2 20,000
OFAr2g 2l 42,000
OAHAOINME A 2e| S 8,949
02 S22l 528,840 385,240 143,600
O0z82= % MAEHt= 82,840
O&Hl== bl 320,000
O&tdl==2c| 23| 100,500
OUFH2A =ST|2e 25,500
401 Al HIZL 01| 33,000 33,000
01 A=l 33,000 33,000
ONNAEA =S| =8 uwH 33,000
405 AtatE = 180,000 8,000 172,000
01 AL ESFH SHI 180,000 8,000 172,000
OXgL Rl - 228 4l # 180,000
406 JIEHAHZ01 S 5,000 15,000 /10,000
01 JIEFX=01& 5,000 15,000 210,000
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A E22e|BH9 XA

M 2
cel FA

WSy (M) (LSAER/E2)
Fgael

SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
||| oznsgze 5,000
WY 2SI ZHI(=2 22/ ) (DIEHIIEL) 3,886, 146 3,646,117 240,029
el 2E | 3,812,706 3,573,718 238,988
S A8 X& 1,312,519 1,258,589 53,930
101 e124d| 1,312,519 1,258,589 53,930
01 2= 1,085,478 1,037,027 48,451
oJlzs 796,794
O=1= 742,043
-2ehy 657,009
6= 3,919,000 x5« 122 235,140
= 3,452,500 «7 &~ 12& 290,010
82 2,551,700 «2F 122 61,241
‘92 1,961,600 x32* 12 70,618
-ASH 85,034
o= 7,086,160 «1& 128 85,034
od2=g 3,220,632 x50%+22| x 17H 54,751
(©FSRU= Bl 140,000 x18H « 12 30,240
OFE=IHI
657,009,000& *1/12x60%+22] 65,701
OS2 &I 22,464
O sSH
85,034,000 *1/12x78*86%+1/30% 13 2,060
Oz =Hl
657,000, 0002 *1/12+86%+1/30% 13 20,404
(OFSF= 1N 39,720
O52 250,000 x1& 128 3,000
O6= 185,000 x5 * 12 11,100
Oors 180,000 x7&* 12 15,120
0892 175,000 x5 * 122 10,500
o= 130,559
OS+=22X=&
30,0002 x18F 12 6,480
O~ (GRS, 16,322
-HesfEsd
3,782,000 x2H =122 %4 1% 3,722
-d2g0t= 12,600
- 258004 130,000 x1& =123 1,560
20~25 012t 110,000 x2&* 12 2,640
- 15~20E 012+ 80,0008 x5 * 122 4,800
- 10~15E 012+ 60,0002 x1& * 12 720
- 5~10018t 50,000 x3& * 122 1,800
- 5@ 0t 30,0002 x3& 123 1,080
OHl2d=+¢ 21,000

~ 840 -




2A:

oy
==
H

. #Y2Y ZPCIEHXIA) (I1EH/IIE
chol: ol (19 @)
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
-bEeE 21,000
B <= Xt 40,0002 x16H*12& 7,680
SANE(HM)
30,0003 6 * 128 2,160
SAI=(SM)
70,0002 6~ 12 5,040
SAIE(AM 014
10,0002 +12x 122 1,320
S (IIED
20,0003 x20E « 12 4,800
OSx22=8 13,080
-FE2RE(EB) 4,800
S5 50,0002 x8& * 12 4,800
g2 5,280
55 50,0002 1+ 123 600
675 30,0009 122 3,240
89 20,0003 6~ 128 1,440
I3 EsEIKE 3,000
-JISE, JIAL 30,0002 x5~ 123 1,800
- AFADIAL 20,000 x2&* 122 480
-2 20,0002 %3~ 122 720
OAleI22+E 69,498
-2y 11,6023 *17H+25A12H+ 123 59,171
-HE 22l
12,8443 x1H+67 Al 2t 123 10,327
oortz2Rsg(Haaeld)
4, 2813 x1H+BAI2Hx 122 4,179
02 JIEta 2= 227,041 221,562 5,479
ozzzz 227,041
oJl2= 4,412,500 +3~ 123 158,850
ogz2+¢ 4,412, 5003 »50%*22| *3H 13,238
Odo=g 4,680
-d2sgonts 4,680
25E 0l &t 130,000& 32+ 123 4,680
OIAHEH =Y 2,880
-bEeE 2,880
HH < Xt 40,0003 +3Z+12& 1,440
FAE 20,0003 6 * 128 1,440
Os+aeN4+Y
30,000 x3&* 122 1,080
O === (2E)
30,0003 18~ 128 360
ot eS| 50,0008 x3& * 122 1,800
OAIZt 2244 11,634
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2A:

ZHI(S2ZCIEHEY XA ) (DIEHDIE

B sEoo
s IEE2g] EER=E)
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
2001 & 12,9263 x3H+25A| 2H+ 123 11,634
OFHZAMH| 140,000 x3&* 122 5,040
Og&E=Itd|
158,850, 000& 1/ 12+60%*23] 15,885
SI=BIEAE
158,850, 0002 *1/12+86%+1/30% 13 4,934
(OFS= 1N 6,660
-3001 & 185,000& 32+ 123 6,660
N =23 29 2,449,715 2,270,203 179,512
101 e124d| 2,187,245 2,026,966 160,279
03 SRA(RIH) 22X+ 2,187,245 2,026,966 160,279
oEzE=H 1,501,045
oJlzs 2,363,6003 x28H~ 12 794,170
ogz2+¢ 2,363,600 «50%+22| x28H 66,181
OXMEete] 794,170,000 *1/12x200% 132,362
OE=gR=E 150,000& x28H * 122 50,400
OXH&eA+Y 150,000& x28H * 123 50,400
OJE=g 35,640
-8 <Xt 40,0002 x28H *12& 13,440
-2 2IIE(IIE
20,0002 x15F 128 3,600
~SIE ()
30,000 *10H 128 3,600
-SAINE(EM)
70,0002 x10H =122 8,400
-SRI (AR 014t
110,000& 52+ 123 6,600
OZAUSAI 140,000& x28H » 122 47,040
OfIg=g 150,000& x28F 123 50,400
OusS2xH| 250,000 x23H 123 69,000
Og &SIl
794,170,000 * 1/ 12+60%*22] 79,417
OAlt2I 22+
18, 1503 x28F +150%+2A| 2+ 12 18,296
OooRrt=22¢
18, 1502 +28H +200%*2A| 2+ 123 24,34
Oxrd=z2f=¢
18, 1503 282 x200%+302 30,492
OS2 4| 145, 2003 x28H 13 52,853
otgaeld 686,200
oJl2= 3,105,300 x11H* 123 409,900
oE2+E 3,105,300 «50%*22] * 11H 34,159
OXH& A=Y 210,000& x11H 128 27,720
OJE=g 12,720
-8 <Xt 40,0002 x11F+ 122 5,280
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SH: CRPIIENRIA
Za: AZ2AAH(T22A2UHUXIA) (IIEHIIEH
el e Eal (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
—=2IE(0IE)
20,0002 x10E* 123 2,400
-SAINE(HM) 30,0002 x7& 122 2,520
-SLIE(EM) 70,0002 +x38 * 122 2,520
Od A ZAMH| 140,000 x11&~12& 18,480
Oetd2te|=g 50,0002 x11E~12& 6,600
OE &=l
409,900,000& *1/12x60%+22] 40,990
OAZtel2ReY
15,4902 * 112 %100% 16AI 2t * 122 32,715
ootz2esg
15,4003 » 112 +50%+BA| 2+ 125 85,195
OYIt2 4| 123,920« 11H %13 17,721
M HASFESS 262,470 243,237 19,233
M SRA(RIAHL) 220N BEERE=3 S 262,470 243,237 19,233
Oz2=2=2 2= JIAFE=S 180,126
OHE2CIE 282 JI2RES 82,344
HHEER 2H 50,472 44,926 5,546
101 @124H| 45,064 40,112 4,952
03 SRH(RINAHA) 222+ 45,064 40,112 4,952
(GRS oy 45,064
OoJlzs 2,545,300« 1E* 122 30,544
og2+¢4 2,545,300 x45%+22] 2,291
OAlRAZ 25
14,5803 * 12 » 150 15 A 2t * 122 3,937
Ouxtrax ¢
16,6402 x 12 %13 1,517
OJtE=g 20,0008 x 18 x 122 240
OFSEL =Tl 140,000 x1&* 122 1,680
OuEH| 100,003 x1& =123 1,200
OAxe=g 50,0002 x 1 x 12 600
Og &=l 2,545,300 x22| x60% 3,055
M HASFESS 5,408 4,814 54
M SRA(RIAHSL) 22N BEERE=s S 5,408 4,814 5%4
OWHH=ER AHEEE JI2RES 5,408
Jl=3H 73,440 72,39 1,041
FA24 J1=23H 44,100 42,999 1,101
201 er23 | 19,300 19,032 268
01 At2tltl 19,000 18,792 208
ORAME2Y AtR2clH] 19,000
2 5234l 300 240 60
ORKN2g s5=2gHl 300
202 04| 14,000 13,167 833

- 843 -




od
i’
oF
uJ

HI(S222IEHEHKIA ) (DIEHDIEH)

S22 BN X A

SH AN L2 2o

=1

SorT-So

2A:
X XH
o
&

-

KIO

Hlw

833

B0
B0
B0

MEE
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14,000
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2,400
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1,800
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- SRA(3) - HIRAY
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Ne
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Kl
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O
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ol
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A EZ2USEN A
¥ £2 1S FHI(SR)(NSESF//E2)
el et =2 22 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
e R e 15,687,356 13,693,539 1,993,817
ES 1,777,209
= 13,910,147
C2 NSy FH(SR)(USLER/E2) 1,414,7% 9,803,069 1,611,727
e 1,777,209
= 9,637,587
OHMBE 2 2| 10,078,811 8,977,519 1,101,292
EN 1,777,209
=S 8,301,602
NLERXNE+LAIES oA 22| 7,510,011 7,954,519 A444,508
ES 1,777,209
= 5,732,802
201 er23 | 816,802 809,032 7,770
01 At2teltl 29,002 23,232 5,770
oNgr =23 23 29,002
Oul=s| 25,600
OsAlH| 3,402
2 35244l 787,800 785,800 2,000
038 &cl 2= 787,800
202 04l 125,000 115,687 9,313
01 =LHN LI 125,000 115,687 9,313
OXgT RAl2c 2= 18,700
OxS& 0d| 28,050
o =22 23(=22+, HE22) 56,430
O==2 & - ASdlJt XA 18,663
OSFH ZHFLA BHAA 3,157
204 AR A 16,800 15,000 1,800
2 S3g =3l 16,800 15,000 1,800
oteletsyl 50,0002 x28H 122 16,800
206 M=l 571,100 596,200 A25,100
01 MHZHI 571,100 596,200 225,100
OXZE=RX2te| - 571,100
401 Al HIZL 201 5,980,309 6,064,600 84,2901
ES 1,777,209
== 4,203,100
01 Al&H| 5,523,309 5,704,600 181,291
ORFL = 800,000
Oti==2 HH 271,300
O&=2H ZHX 455,000
Ooug ¥ BHE 2+ 1,510,000
OuSHHAIE 120,000
OZ 01 3Hl 134,200
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A EZ2USEN A
¥ £2 1S FHI(SR)(NSESF//E2)
el et =2 22 EER=E)
S - BB - BRI(EH) - AIRAY - BES of v e HIDE2
OAlE= ot EH 1,777,209
ES 1,777,209
OYs=Etel Mo 23,600
O =24 432,000
02 Zeltl 450,000 353,000 97,000
OAHEAH 2 ES 450,000
03 AIZ S THY 7,000 7,000 0
OAl4 I 7,000
EEE W 1,000,000 1,000,000
401 Al HIZL S 0HYI 1,000,000 1,000,000
01 Al&HI 1,000,000 1,000,000
ORIEEZ N 1,000,000
ANSEHE MR ALY 1,430,000 1,000,000 430,000
401 Al HIZ 2018 1,430,000 1,000,000 430,000
01 Al&HI 1,430,000 1,000,000 430,000
O8Il - SMAIE B & B 1,430,000
N1 AL 116,800 0 116,800
401 Al HIZ S 0HYI 116,800 116,800
01 AlZ28| 116,800 116,800
OMZUIIA SEIHEAE 116,800
HIE2E MBAIE |X2 22,000 23,000 21,000
401 AIEHIZ R 0HYI 22,000 23,000 21,000
01 Al&H| 22,000 23,000 21,000
OHIE2Z MZAIE [ 22,000
AL 32 1,335,985 825,550 510,435
A2 2 2SS 1,335,985 825,550 510,435
201 Ler2& | 1,086,985 825,550 261,435
01 AtR2telH] 606,985 398,550 208,435
OAEIY A= 12,000
ONM&ZHl Xz 578,435
OYZRXt LIS 2,700
OLIHOIMEH 2te| (& 13,850
2 s5=34l 480,000 427,000 53,000
0332 € AMAl 90,000
OFAAIE F A2l 40,000
OZHIF=7HI 240,000
OZdl+=cIRZ4| 110,000
405 AHatE = 249,000 249,000
01 ML ESF SHI 249,000 249,000
Ookt=zzecl FHl ¥ Xg +¢ 249,000
dH2LIH(=Z2 2SR XA)(IIEHIIE 4,272,560 3,890,470 382,090
elg 3 4,184,948 3,806,657 379,291
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2A: E222=2XL
M HYP2AAH(C2HCISEXIL) (JIEHIIE
S RRIEESS(T (SHol: &2)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
S2& oAy XH 1,707,991 1,469,840 238, 151
101 2124 d| 1,707,991 1,469,840 238, 151
01 2= 1,636,782 1,439,214 197,568
OpIE== 1,194,970
o=3 1,109,751
- 87,181
= 87,181,000&*1H 87,181
—QlB}Al 1,022,570
6= 4,283, 1002 x5H + 12& 257,286
= 3,296,800 x9F + 12& 366,055
= 2,638, 700& x11H +12& 348,309
= 2,538,300& x2ZF +12& 60,920
oyz2se 3,156,230 *27 H *50%+*23 85,219
o= 197,800
Oa0lag 20,465
ezsdsy
4,515,000 x3F +4 1%+ 12 6,665
~HISES 13.800
- 25E 01 & 130,000 x2H 122 3,120
- 20~25 0| B 110,000 x1F + 122 1,320
- 15~204 0| 2t 80,0002 x1Z+12& 960
- 10~15= 0] 2t 60,0002 x5 12& 3,600
- 5~10= 0|2+ 50,0002 =8+ 12& 4,800
OIIAHEE =Y 21,840
s 21,840
- BH Xt 40,0003 =158 *12& 7,200
-HHRXE, AHH 2 RIS
20,0002 +524* 102 1,200
L RUIIE(HM XHA)
30,0003 =108+ 12& 3,600
- SAIE(EM AHA)
70,0003 +7H 123 5,880
- R2UINF (AWM 0IF KtH)
110,000 x3% » 123 3,960
O=sE2LY 100,000& x4 123 4,800
OS=22=4 23,160
-FEI2R+H(EB)
50,0003« 12+ 12& 7,200
Jl=d88sY 7,920
5= 014 50,0003 *1H 123 600
e= 30,0003+ 138+ 12& 4,680
8~9= 20,0003+ 118+ 12& 2,640
JE=38sY Jktg 8,040
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2A: E222=EXA
MM HY2AZH(S2RB2I=2KIA)(IIEHIIE
el e Eal CEREED
SA - BB -GS - MRAY - BES Ofl vy e MimE=E)
JSE - JIA
30,0003 x17H*12& 6,120
HRIIA - 2T
20,0002 x8H 128 1,920
OAZII224Y 115,000
-l BHA 11,6023 x25H 25 A 2% 12E 87,015
-Hez2eld
11,6022 x3H *x67 A 2H+ 128 27,985
OO0 224EH(HE 22IJ)
4,28121 x3H*x8A| 2tx 122! 12,535
OFHZAIH| 140,000 x28H 128 47,040
OYEFII
1,022,616,000& *1/12+60%*23] 102,262
OIS A 33,870
OHASH
87,181,000 » 1/12%78%*86%+*1/30* 13! 2,112
Os2H
1,022,616, 0002 x1/12+86%+1/30% 13 31,758
(OESF=1=F ]| 60,840
O52 250,000& x 1+ 12& 3,000
o622 185,000& 5 x 128 11,100
org 180,000& 9 x 122 19,440
0892 175,000 13« 128 27,300
02 JIEt& B4 71,209 30,626 40,583
(OFSEEat= 32,902
oJlE2 1,970,850& x 1+ 12& 23,651
OFHZAH| 140,000& 1Y~ 128 1,680
OxZ2E x| 175,000& 1Y« 128 2,100
OAZ2 22+
10, 3503 x 1H+25A] 2Hx 128 3,105
OY&E SOt
1,970, 850& * 1H +x60%*23] 2,366
OAIZHEERAD|HI(0FS) 38,307
oJ1e2 2,394,080 x1H*12& 28,729
OIIAHBE =S 1,680
sy 1,680
B < X+ 40,0003 *x 1+ 12 480
CEIE(HM KHA)
30,0003 x1Hx12& 360
SIE(SM AHA)
70,000& x 1~ 128 840
ouelgsyl| 50,000%7/8*x 1~ 12& 525
OARRIIRR4Y
10,350 x 1H+25A] 2tx 128 3,105
OFHZAHI 140,0003 1128 1,680
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SH: CRISLIL
M HF2IHH(C222IS2XL)(OIEHIIE
SE R IEE CERE)
SA - ZB . 9(B) - NIRA - BaS ol ke e HlmS2
SEPIEIIT
2,394,080 x84%+86%+1/30%1/7+91 Al 2t 750
OXZEZH| 175,000217/8+1Z 102 1,838
e =23 29 2,476,957 2,335,817 141,140
101 Q124H| 2,211,568 2,085,550 126,018
03 SR (I 22 RHE> 2,211,568 2,085,550 126,018
(OES=aSE 1,447,155
o= 2,288,500& x27H 123 741,474
og2=xd 2,288,500% *27 B *50%*23] 61,790
Ol 741,474, 00024 %1/ 125200% 123,579
OS4gRsg 150, 00021427 * 122 48,600
OXg&A+E 150,000& 27 A+ 128 48,600
ONESY 37,320
~HH P Xt 40,00021%25% 1224 12,000
-F IS 30,0003 40H <122 14,400
~SODIE (SN )
70,0002 13" x 122 10,920
OFAZAH| 140,00021%27% 1224 45,360
OfIg4Y 150,00021%27% 1224 48,600
OuEE 2| 250,000& x23H 122 69,000
OYE S|
741,474,0003 % 1/12+60%*23] 74,148
OS2 4| 135,000& 27 Hx132 47,385
OAIZIel2R4Y
16,9003 x150%+27 H+bA| 2+ 12 41,067
OfYaRLY
16,9003 *200%*27 2 +30 27,378
ooRIEeL
16,9002 *200%+27 B +3A| 2+ 123 32,854
oEZR2I 719,548
O=: 3,023,300& * 13 » 123 471,635
Oo&EZ+E 3,023,300 *13H +50%+*23] 39,303
OXg&A+E 210,000 13"~ 122 32,760
OXESY 14,520
~HL Xt 40,0002+ 1021224 4,800
I 30,00021%20% 1224 7,200
~SODIE (SN KH)
70,0002 «3&~ 122 2,520
O™ HSAI 14000024 %13+ 122 21,840
OYE I
471,634,800 *1/12+60%*23] 47,164
OeIDHR 41| 133,00021+132+ 132 22,477
OAIZIel2R4Y
19,0002 * 13 *16AI2H+ 123 47,424
ooRt2R= 9,000 *13E*1252 14,625
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SN CRB2IZSTL
Ja: AY2AAH(T2RAUS2XA)(IIEHIIEH
chol: ol (19 @)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
Oetd2te|=g 50,0002 x13E «12& 7,800
O™IHAIRE 44,865
(@F=1 2,330,100 «1Z 128 27,962
o832+ 2,330, 1002 x1H+30%*22] 1,39
OARIRAs=E
12,0008 x1Z*20A[ 2k 123 2,880
Ozgafsy
12,0002« 1 x8A1 2+ 122 1,182
ooRIeSY
12,0002« 1 +bA| 2+ 123 720
OgxRsRIIre
95,0003 x 1 » 13 1,235
OZEFOHI
2,330, 1002 * 12 +60%*23] 2,797
OzAatl 140,000& x 12+ 123 1,680
OusH| 100,000 x1&* 122 1,200
OJE+E 3,840
-SHE 30,0002 x1& 122 360
-SLIE(EM )
70,0002 x1& x 122 840
LIS (M AHA)
110,000& »12& 1,320
-SAUIE(UUM THH)
110,000& * 12 1,320
M HASFESS 265,389 250,267 15,122
M SRA(RIHL) 22X BEERE=3 S 265,389 250,267 156,122
Oz=2=2 2= JIAFES 173,659
OHE2CId 282 J 2R3 86,346
OYIANRE 428 = J 223 5,384
Jl=3H| 87,612 84,813 2,79
2AE2g Jl=23tl 58,272 55,413 2,859
201 eer23y| 28,218 27,753 465
01 AtR2t2lHl 27,218 26,753 465
ORKN2E AtR2ciH] 27,218
02 s3=gHl 1,000 1,000 0
FAEE SS234| 1,000
202 04| 18,354 16,160 2,194
01 SLHoIH 18,354 16,160 2,194
OFAMEE =0 18,3%4
203 HR=H] 9,900 9,700 200
02 3t RF&| 2,760 2,680 80
OZEIRIE 2= 40,0002 *69H 2,760
MU FA2SHIFII 7,140 7,020 120
©3121 0l&f 595,000& * 128 7,140
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